



Course : BCOM( Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 22-July-2025

UNIV ROLL NO : 3241880002 CAND.NAME : HIMANSHI REG NO : 24-GDC-38			FATHER'S NAME : RAM LOK							MOTHER'S NAME : RAMA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	23	11	30	28	18	50	18	8	20	-	69	40	100	A+	7.00	6	42.00	-	-	-	FAIL
Business Organisation and Management ( BC 1.2 )	24	11	30	20	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Business Law ( BC 1.3 )	23	11	30	30	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Business Statistics and Mathematics ( BC 1.4 )	23	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	25	11	30	29	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi ( HIND101 )	23	11	30	41	25	70	-	-	-	-	64	40	100	A	6.50	6	39.00				
Writing Skills ( ENG AECC 104 )	25	11	30	48	25	70	-	-	-	-	73	40	100	A++	7.50	4	30.00				
Environment Science ( ENVS2AECC2 )	-	-	-	26	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 3241880003 CAND.NAME : JATIN SEHGAL REG NO : 24-GDC-32			FATHER'S NAME : ANAND KISHORE							MOTHER'S NAME : CHANCHALA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	22	11	30	22	18	50	18	8	20	-	62	40	100	A	6.50	6	39.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (BC 1.4)
Business Organisation and Management ( BC 1.2 )	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Business Law ( BC 1.3 )	23	11	30	30	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Business Statistics and Mathematics ( BC 1.4 )	22	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	27	11	30	31	25	70	-	-	-	-	58	40	100	B+	6.00	6	36.00				
Prayojanmoolak Hindi ( HIND101 )	22	11	30	43	25	70	-	-	-	-	65	40	100	A+	7.00	6	42.00				
Writing Skills ( ENG AECC 104 )	27	11	30	49	25	70	-	-	-	-	76	40	100	O	8.00	4	32.00				
Environment Science ( ENVS2AECC2 )	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 3241880004 CAND.NAME : KAJAL REG NO : 24-GDC-36			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : CHINTA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	28	11	30	37	18	50	19	8	20	-	84	40	100	O+	8.50	6	51.00	7.84	-	O	PASS
Business Organisation and Management ( BC 1.2 )	26	11	30	48	25	70	-	-	-	-	74	40	100	A++	7.50	6	45.00				
Business Law ( BC 1.3 )	29	11	30	39	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Business Statistics and Mathematics ( BC 1.4 )	29	11	30	53	25	70	-	-	-	-	82	40	100	O+	8.50	6	51.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	29	11	30	46	25	70	-	-	-	-	75	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi ( HIND101 )	28	11	30	51	25	70	-	-	-	-	79	40	100	O	8.00	6	48.00				
Writing Skills ( ENG AECC 104 )	29	11	30	49	25	70	-	-	-	-	78	40	100	O	8.00	4	32.00				
Environment Science ( ENVS2AECC2 )	-	-	-	67	40	100	-	-	-	-	67	40	100	A+	7.00	4	28.00				
										-	MO/MM- 607 / 800					TC-44	TCP - 345.00	Dis. -			

Course : BCOM( Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 22-July-2025

UNIV ROLL NO : 3241880005 CAND.NAME : NIKHIL KUMAR REG NO : 24-GDC-43			FATHER'S NAME : JOGINDER SINGH							MOTHER'S NAME : REETA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	22	11	30	30	18	50	15	8	20	-	67	40	100	A+	7.00	6	42.00	-	-	-	FAIL
Business Organisation and Management ( BC 1.2 )	22	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Business Law ( BC 1.3 )	18	11	30	19	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Business Statistics and Mathematics ( BC 1.4 )	17	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	25	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi ( HIND101 )	16	11	30	34	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
Writing Skills ( ENG AECC 104 )	25	11	30	37	25	70	-	-	-	-	62	40	100	A	6.50	4	26.00				
Environment Science ( ENVS2AECC2 )	-	-	-	26	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 3241880006 CAND.NAME : NIKITA KUMARI REG NO : 24-GDC-40			FATHER'S NAME : SANJEEV KUMAR							MOTHER'S NAME : TRIPTA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	24	11	30	37	18	50	18	8	20	-	79	40	100	O	8.00	6	48.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,BC 1.4)
Business Organisation and Management ( BC 1.2 )	24	11	30	36	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Business Law ( BC 1.3 )	24	11	30	27	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Business Statistics and Mathematics ( BC 1.4 )	23	11	30	7	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	26	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi ( HIND101 )	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Writing Skills ( ENG AECC 104 )	26	11	30	51	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
Environment Science ( ENVS2AECC2 )	-	-	-	50	40	100	-	-	-	-	50	40	100	B	5.50	4	22.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			
UNIV ROLL NO : 3241880007 CAND.NAME : PAYAL REG NO : 24-GDC-33			FATHER'S NAME : BUDH RAM							MOTHER'S NAME : KAMLESH KUMARI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	23	11	30	36	18	50	17	8	20	-	76	40	100	O	8.00	6	48.00	-	-	-	FAIL
Business Organisation and Management ( BC 1.2 )	23	11	30	37	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Business Law ( BC 1.3 )	22	11	30	31	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Business Statistics and Mathematics ( BC 1.4 )	21	11	30	15	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	27	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi ( HIND101 )	20	11	30	41	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Writing Skills ( ENG AECC 104 )	27	11	30	45	25	70	-	-	-	-	72	40	100	A++	7.50	4	30.00				
Environment Science ( ENVS2AECC2 )	-	-	-	26	40	100	-	-	-	-	-	40	100	F	0.00	4	0.00				
										-	MO/MM- - / 800					TC-44	TCP --	Dis. -			

Course : BCOM( Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 22-July-2025

UNIV ROLL NO : 3241880008 CAND.NAME : POONAM KUMARI REG NO : 24-GDC-39			FATHER'S NAME : RAMJI DASS							MOTHER'S NAME : ROSHANI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	27	11	30	36	18	50	19	8	20	-	82	40	100	O+	8.50	6	51.00	6.70	-	A+	PASS
Business Organisation and Management ( BC 1.2 )	26	11	30	30	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Business Law ( BC 1.3 )	27	11	30	34	25	70	-	-	-	-	61	40	100	A	6.50	6	39.00				
Business Statistics and Mathematics ( BC 1.4 )	25	11	30	35	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	26	11	30	27	25	70	-	-	-	-	53	40	100	B	5.50	6	33.00				
Prayojanmoolak Hindi ( HIND101 )	21	11	30	51	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Writing Skills ( ENG AECC 104 )	26	11	30	49	25	70	-	-	-	-	75	40	100	O	8.00	4	32.00				
Environment Science ( ENVS2AECC2 )	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- 499 / 800					TC-44	TCP - 295.00	Dis. -			
UNIV ROLL NO : 3241880009 CAND.NAME : PRABHJOT KAUR REG NO : 24-GDC-37			FATHER'S NAME : NARINDER SINGH							MOTHER'S NAME : REKHA							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	27	11	30	35	18	50	18	8	20	-	80	40	100	O+	8.50	6	51.00	6.77	-	A+	PASS
Business Organisation and Management ( BC 1.2 )	27	11	30	25	25	70	-	-	-	-	52	40	100	B	5.50	6	33.00				
Business Law ( BC 1.3 )	24	11	30	36	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Business Statistics and Mathematics ( BC 1.4 )	22	11	30	26	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	6	48.00				
Prayojanmoolak Hindi ( HIND101 )	25	11	30	47	25	70	-	-	-	-	72	40	100	A++	7.50	6	45.00				
Writing Skills ( ENG AECC 104 )	27	11	30	50	25	70	-	-	-	-	77	40	100	O	8.00	4	32.00				
Environment Science ( ENVS2AECC2 )	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
										-	MO/MM- 508 / 800					TC-44	TCP - 298.00	Dis. -			
UNIV ROLL NO : 3241880010 CAND.NAME : UMESH KUMAR REG NO : 24-GDC-41			FATHER'S NAME : SANTOSH KUMAR							MOTHER'S NAME : NEELAM DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	26	11	30	30	18	50	19	8	20	-	75	40	100	O	8.00	6	48.00	-	-	-	COMPAR TMENT TILL APRIL 2026 Paper Code (BC 1.3,BC 1.4)
Business Organisation and Management ( BC 1.2 )	26	11	30	25	25	70	-	-	-	-	51	40	100	B	5.50	6	33.00				
Business Law ( BC 1.3 )	23	11	30	11	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Business Statistics and Mathematics ( BC 1.4 )	26	11	30	12	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	26	11	30	42	25	70	-	-	-	-	68	40	100	A+	7.00	6	42.00				
Prayojanmoolak Hindi ( HIND101 )	20	11	30	34	25	70	-	-	-	-	54	40	100	B	5.50	6	33.00				
Writing Skills ( ENG AECC 104 )	26	11	30	40	25	70	-	-	-	-	66	40	100	A+	7.00	4	28.00				
Environment Science ( ENVS2AECC2 )	-	-	-	40	40	100	-	-	-	-	40	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

Course : BCOM( Regular Batch)

Year : First

ExamYear : APRIL 2025

Date of Result Declaration : 22-July-2025

UNIV ROLL NO : 3241880011 CAND.NAME : VIKRAM REG NO : 24-GDC-34			FATHER'S NAME : INDER SINGH							MOTHER'S NAME : SUNITA DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	23	11	30	35	18	50	15	8	20	-	73	40	100	A++	7.50	6	45.00				COMPAR TMENT TILL APRIL 2026 Paper Code (BC 1.3,BC 1.4)
Business Organisation and Management ( BC 1.2 )	23	11	30	25	25	70	-	-	-	-	48	40	100	C	5.00	6	30.00				
Business Law ( BC 1.3 )	22	11	30	17	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Business Statistics and Mathematics ( BC 1.4 )	21	11	30	21	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	26	11	30	34	25	70	-	-	-	-	60	40	100	A	6.50	6	39.00				
Prayojanmoolak Hindi ( HIND101 )	18	11	30	38	25	70	-	-	-	-	56	40	100	B+	6.00	6	36.00				
Writing Skills ( ENG AECC 104 )	26	11	30	45	25	70	-	-	-	-	71	40	100	A++	7.50	4	30.00				
Environment Science ( ENVS2AECC2 )	-	-	-	61	40	100	-	-	-	-	61	40	100	A	6.50	4	26.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			
UNIV ROLL NO : 3241880012 CAND.NAME : VINOD KUMAR REG NO : 24-GDC-35			FATHER'S NAME : JAI PAL							MOTHER'S NAME : CHHANGI DEVI							Exam Type : FRESH				
Paper Detail																					
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	GPA	CGPA	Grade	Result/ Status
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M								
Financial Accounting ( BC 1.1 )	22	11	30	34	18	50	15	8	20	-	71	40	100	A++	7.50	6	45.00				COMPAR TMENT TILL APRIL 2026 Paper Code (ENG CE 101,BC 1.3)
Business Organisation and Management ( BC 1.2 )	21	11	30	25	25	70	-	-	-	-	46	40	100	C	5.00	6	30.00				
Business Law ( BC 1.3 )	20	11	30	16	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Business Statistics and Mathematics ( BC 1.4 )	20	11	30	30	25	70	-	-	-	-	50	40	100	B	5.50	6	33.00				
English-1 Core English (Compulsory) ( ENG CE 101 )	23	11	30	14	25	70	-	-	-	-	-	40	100	F	0.00	6	0.00				
Prayojanmoolak Hindi ( HIND101 )	19	11	30	40	25	70	-	-	-	-	59	40	100	B+	6.00	6	36.00				
Writing Skills ( ENG AECC 104 )	23	11	30	41	25	70	-	-	-	-	64	40	100	A	6.50	4	26.00				
Environment Science ( ENVS2AECC2 )	-	-	-	42	40	100	-	-	-	-	42	40	100	C	5.00	4	20.00				
										-	MO/MM- - / 800					TC-44	TCP - -	Dis. -			

**This result is declared as per the university ordinance and result declaration rules adopted by the university from time to time. The result is being processed through ERP system on the basis of the awards entered and verified by the colleges and the concerned examination branches.**

**A.R. / D.R. (Exam-I)  
H.P.University, Shimla-5.**

**Dated : .....**

**Controller of Examinations  
H.P.University, Shimla-5.**

**Note: This TR is also available on the Concerned Examination Branches, College id's and Department Chairman id's for their information and record purpose.**

**A.R. / D.R. (Exam-I)  
H.P.University, Shimla-5.**